EARAROBEEIERT — 2 N— IBISH —F

20128F9A23H (H) 12m{£E2H

PN o — 340 SR 2% ECEE R
[AE£] 1% :290,000” ~ 2%&:67,000”  337%&:26,000H  43%&:1500 M 53 :9,000 8
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— o\ e N BEmth :28. ~4-5- . — FEBF (£8)
1 6l 7T AR— o2 55;_0 1(2_8)2 7-4-5-3 | 41.0 1 ;1_730) Pl "
L:AR)IFNIT—/ BwXxN/LT g AH 1F
S # o2 | BEE—E 1:28.2 3-3-3-2 |41.4| — 4 449 | FIIES (EH)
2 4 T—h—>+ 55.0 (5 €) +3) FiliEa
L:ARKYIFrYF7—/ B:T7L>FIvO A #a
. B2 | REE(C 1:28.3 2-2-2-1 |41.9| — 2 443 | TIER (ER)
3lglg|FavITt>b 54.0 (1/2) “7) BT
L=t AR BiF3UIARNAZR BEXZY K
. . AllES : ~7-6- — RIIEX (E8)
41810/ T KU—L>3 v b #2080 1'(269)'4 Yres et ! ﬁ) ERhER
R:T7LBXT149 9774 8 B/ O JE-F N E%5%
_ e — IFE* -30. 88— . — AHE—K (£H)
slolg| 71711 KS o2 LT 1(330)0 8-8-8-7 | 42.4 3 <4+368) REA "
RV TATIAL R B:7 4—T710— PNk e ]
A R 4 2 | HXKTH 1:30.3 4-5-4-6 |43.4| — 5 426 |BBITIE (1EH)
6lzl7|7V=>KU—=-AL #53.0 (1 1/2) 43) FHOAH
L:A-T>5U>r B:p)3> BmA =i
.~ N \WITHE -30. ~1-1- . — AR (EH)
7lsl5 ¥A32TL— b w2 - A B R ° e |EEEE
R:vavrhr7 B:HI/IIRb KT 7— L
9 . AL : 67— — HIEF (BR)
8 AE AT EA i 2 '5‘;3 1.(310).9 6-6-7-8 | 43.5 10 <4+222) ng:am
LiPA L T 1= BT AN RIS
N ERLAZPN :32. -10-9~ . — neE (K8
ol1/1|77—rT7—0 R o e | 100 a2 T | EmE
RRIHEAY R B v~v—4 &&= E*
- e f 2 | SHIEA 1:34.7 9-9-10-10 | 45.4 | — 8 443 | EHEB (£H)
EH 3| Fr A —ZxH 54.0 (51%) (+5) | IR
RAHRE—FL B:Fr4=Z—XFyR MR 8B
® 1—F—@EBIERL
1T=7r= 5,9,4,7,10,2,6,8,3,1
2a=5F= 5,9,4,6,7,2,10,8,3,1
Ja=5= 5,9,4,7,6,10,2,8,1,3
40—F— 9,4,6,5,10,7,8,2,1,3
[ N5
B 6 260M 714K 4-6 350 e E 4-6 1,520 JEE 4-6-9 1,270H
B B 6 130H4 6-9 300M B = 4-6 1,1108 EE 6-4-9 8,010
4 200H 4-9 450M B H 6-4 1,700M
9 170

ABICOVWTRDTEEERROODE. TR LIV,




